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NEW QUESTION 1
- (Exam Topic 1)
Vulnerability scans are dependent on ______ in order to function. Response:

A. Privileged access
B. Vulnerability signatures
C. Malware libraries
D. Forensic analysis

Answer: B

NEW QUESTION 2
- (Exam Topic 1)
Which cloud storage type uses an opaque value or descriptor to categorize and organize data? Response:

A. Volume
B. Object
C. Structured
D. Unstructured

Answer: D

NEW QUESTION 3
- (Exam Topic 1)
Which of the following is characterized by a set maximum capacity? Response:

A. A secret-sharing-made-short (SSMS) bit-splitting implementation
B. A tightly coupled cloud storage cluster
C. A loosely coupled cloud storage cluster
D. A public-key infrastructure

Answer: B

NEW QUESTION 4
- (Exam Topic 1)
What type of device is often leveraged to assist legacy applications that may not have the programmatic capability to process assertions from modern web
services?

A. Web application firewall
B. XML accelerator
C. Relying party
D. XML firewall

Answer: B

NEW QUESTION 5
- (Exam Topic 1)
Which of the following is essential for getting full security value from your system baseline? Response:

A. Capturing and storing an image of the baseline
B. Keeping a copy of upcoming suggested modifications to the baseline
C. Having the baseline vetted by an objective third party
D. Using a baseline from another industry member so as not to engage in repetitious efforts

Answer: A

NEW QUESTION 6
- (Exam Topic 1)
What is used with a single sign-on system for authentication after the identity provider has successfully authenticated a user?
Response:

A. Token
B. Key
C. XML
D. SAML

Answer: A

NEW QUESTION 7
- (Exam Topic 1)
When an organization implements an SIEM solution and begins aggregating event data, the configured event sources are only valid at the time it was configured.
Application modifications, patching, and other upgrades will change the events generated and how they are represented over time.
What process is necessary to ensure events are collected and processed with this in mind?

A. Continual review
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B. Continuous optimization
C. Aggregation updates
D. Event elasticity

Answer: B

NEW QUESTION 8
- (Exam Topic 1)
Which concept of cloud computing pertains to the ability to reuse components and services of an application for other purposes?

A. Portability
B. Interoperability
C. Resource pooling
D. Elasticity

Answer: B

NEW QUESTION 9
- (Exam Topic 1)
Which phase of the cloud data lifecycle involves processing by a user or application? Response:

A. Create
B. Share
C. Store
D. Use

Answer: D

NEW QUESTION 10
- (Exam Topic 1)
You are in charge of creating the BCDR plan and procedures for your organization. Your organization has its production environment hosted by a cloud provider,
and you have appropriate protections in place.
Which of the following is a significant consideration for your BCDR backup? Response:

A. Enough personnel at the BCDR recovery site to ensure proper operations
B. Good cryptographic key management
C. Access to the servers where the BCDR backup is stored
D. Forensic analysis capabilities

Answer: B

NEW QUESTION 10
- (Exam Topic 1)
When considering the option to migrate from an on-premises environment to a hosted cloud service, an organization should weigh the risks of allowing external
entities to access the cloud data for collaborative purposes against ______.
Response:

A. Not securing the data in the legacy environment
B. Disclosing the data publicly
C. Inviting external personnel into the legacy workspace in order to enhance collaboration
D. Sending the data outside the legacy environment for collaborative purposes

Answer: D

NEW QUESTION 11
- (Exam Topic 1)
You work for a government research facility. Your organization often shares data with other government research organizations.
You would like to create a single sign-on experience across the organizations, where users at each organization can sign in with the user ID/authentication issued
by that organization, then access research data in all the other organizations.
Instead of replicating the data stores of each organization at every other organization (which is one way of accomplishing this goal), you instead want every user to
have access to each organization’s specific storage resources.
If you don’t use cross-certification, what other model can you implement for this purpose? Response:

A. Third-party identity broker
B. Cloud reseller
C. Intractable nuanced variance
D. Mandatory access control (MAC)

Answer: A

NEW QUESTION 12
- (Exam Topic 1)
At which phase of the SDLC process should security begin participating?

A. Requirements gathering
B. Requirements analysis
C. Design

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy CCSP dumps
https://www.2passeasy.com/dumps/CCSP/ (353 New Questions)

D. Testing

Answer: A

NEW QUESTION 15
- (Exam Topic 1)
You are performing an audit of the security controls used in a cloud environment. Which of the following would best serve your purpose?
Response:

A. The business impact analysis (BIA)
B. A copy of the VM baseline configuration
C. The latest version of the company’s financial records
D. A SOC 3 report from another (external) auditor

Answer: B

NEW QUESTION 18
- (Exam Topic 1)
The cloud deployment model that features joint ownership of assets among an affinity group is known as: Response:

A. Private
B. Public
C. Hybrid
D. Community

Answer: D

NEW QUESTION 22
- (Exam Topic 1)
Which of the following is not one of the defined security controls domains within the Cloud Controls Matrix, published by the Cloud Security Alliance?
Response:

A. Financial
B. Human resources
C. Mobile security
D. Identity and access management

Answer: A

NEW QUESTION 26
- (Exam Topic 1)
Which of the following is a possible negative aspect of bit-splitting?

A. Greater chance of physical theft of assets
B. Loss of public image
C. Some risk to availability, depending on the implementation
D. A small fire hazard

Answer: C

NEW QUESTION 31
- (Exam Topic 1)
In the cloud motif, the data processor is usually: Response:

A. The party that assigns access rights
B. The cloud customer
C. The cloud provider
D. The cloud access security broker

Answer: C

NEW QUESTION 36
- (Exam Topic 1)
The final phase of the cloud data lifecycle is the destroy phase, where data is ultimately deleted and done so in a secure manner to ensure it cannot be recovered
or reconstructed. Which cloud service category poses the most challenges to data destruction or the cloud customer?

A. Platform
B. Software
C. Infrastructure
D. Desktop

Answer: B

NEW QUESTION 37
- (Exam Topic 1)
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You are the security manager for an online retail sales company with 100 employees and a production environment hosted in a PaaS model with a major cloud
provider.
Your company policies have allowed for a BYOD workforce that work equally from the company offices and their own homes or other locations. The policies also
allow users to select which APIs they install and use on their own devices in order to access and manipulate company data.
Of the following, what is a security control you’d like to implement to offset the risk(s) incurred by this practice?

A. Regular and widespread integrity checks on sampled data throughout the managed environment
B. More extensive and granular background checks on all employees, particularly new hires
C. Inclusion of references to all applicable regulations in the policy documents
D. Increased enforcement of separation of duties for all workflows

Answer: A

NEW QUESTION 42
- (Exam Topic 1)
A honeypot can be used for all the following purposes except ______.
Response:

A. Gathering threat intelligence
B. Luring attackers
C. Distracting attackers
D. Delaying attackers

Answer: B

NEW QUESTION 47
- (Exam Topic 1)
One of the security challenges of operating in the cloud is that additional controls must be placed on file storage systems because ______ .
Response:

A. File stores are always kept in plain text in the cloud
B. There is no way to sanitize file storage space in the cloud
C. Virtualization necessarily prevents the use of application-based security controls
D. Virtual machines are stored as snapshotted files when not in use

Answer: D

NEW QUESTION 48
- (Exam Topic 1)
The physical layout of a cloud data center campus should include redundancies of all the following except
______ .
Response:

A. Generators
B. HVAC units
C. Generator fuel storage
D. Points of personnel ingress

Answer: D

NEW QUESTION 51
- (Exam Topic 1)
Log data should be protected ______.
Response:

A. One level below the sensitivity level of the systems from which it was collected
B. At least at the same sensitivity level as the systems from which it was collected
C. With encryption in transit, at rest, and in use
D. According to NIST guidelines

Answer: B

NEW QUESTION 52
- (Exam Topic 1)
Using one cloud provider for your operational environment and another for your BCDR backup will also give you the additional benefit of ______.
Response:

A. Allowing any custom VM builds you use to be instantly ported to another environment
B. Avoiding vendor lock-in/lockout
C. Increased performance
D. Lower cost

Answer: B

NEW QUESTION 54
- (Exam Topic 1)
Which concept pertains to cloud customers paying only for the resources they use and consume, and only for the duration they are using them?
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Response:

A. Measured service
B. Auto-scaling
C. Portability
D. Elasticity

Answer: A

NEW QUESTION 58
- (Exam Topic 1)
Which ISO standard refers to addressing security risks in a supply chain?

A. ISO 27001
B. ISO/IEC 28000:2007
C. ISO 18799
D. ISO 31000:2009

Answer: B

NEW QUESTION 59
- (Exam Topic 1)
During which stage of the SDLC process should security be consulted and begin its initial involvement?

A. Testing
B. Design
C. Development
D. Requirement gathering

Answer: D

NEW QUESTION 61
- (Exam Topic 1)
DRM solutions should generally include all the following functions, except:

A. Persistency
B. Automatic self-destruct
C. Automatic expiration
D. Dynamic policy control

Answer: B

NEW QUESTION 66
- (Exam Topic 1)
Which cloud service category offers the most customization options and control to the cloud customer?
Response:

A. PaaS
B. IaaS
C. SaaS
D. DaaS

Answer: B

NEW QUESTION 71
- (Exam Topic 1)
SOX was enacted because of which of the following? Response:

A. Poor BOD oversight
B. Lack of independent audits
C. Poor financial controls
D. All of the above

Answer: D

NEW QUESTION 74
- (Exam Topic 1)
A honeypot should contain data______.
Response:

A. Raw
B. Production
C. Useless
D. Sensitive

Answer: C
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NEW QUESTION 75
- (Exam Topic 1)
Who should be the only entity allowed to declare that an organization can return to normal following contingency or BCDR operations?
Response:

A. Regulators
B. Law enforcement
C. The incident manager
D. Senior management

Answer: D

NEW QUESTION 78
- (Exam Topic 1)
Who will determine data classifications for the cloud customer?

A. The cloud provider
B. NIST
C. Regulators
D. The cloud customer

Answer: D

NEW QUESTION 81
- (Exam Topic 1)
Which of the following best describes a cloud carrier?

A. A person or entity responsible for making a cloud service available to consumers
B. The intermediary who provides connectivity and transport of cloud services between cloud providers and cloud consumers
C. The person or entity responsible for keeping cloud services running for customers
D. The person or entity responsible for transporting data across the Internet

Answer: B

NEW QUESTION 84
- (Exam Topic 1)
The Cloud Security Alliance (CSA) publishes, the Notorious Nine, a list of common threats to organizations participating in cloud computing.
According to the CSA, all of the following activity can result in data loss except ______ .

A. Misplaced crypto keys
B. Improper policy
C. Ineffectual backup procedures
D. Accidental overwrite

Answer: B

NEW QUESTION 89
- (Exam Topic 1)
Heating, ventilation, and air conditioning (HVAC) systems cool the data center by pushing warm air into ______.
Response:

A. The server inlets
B. Underfloor plenums
C. HVAC intakes
D. The outside world

Answer: D

NEW QUESTION 91
- (Exam Topic 1)
The use of which of the following technologies will NOT require the security dependency of an operating system, other than its own?

A. Management plane
B. Type 1 hypervisor
C. Type 2 hypervisor
D. Virtual machine

Answer: B

NEW QUESTION 94
- (Exam Topic 1)
At which layer does the IPSec protocol operate to encrypt and protect communications between two parties? Response:

A. Network
B. Application
C. Transport
D. Data link
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Answer: A

NEW QUESTION 95
- (Exam Topic 1)
What are the six components that make up the STRIDE threat model? Response:

A. Spoofing, Tampering, Repudiation, Information Disclosure, Denial of Service, and Elevation of Privilege
B. Spoofing, Tampering, Non-Repudiation, Information Disclosure, Denial of Service, and Elevation of Privilege
C. Spoofing, Tampering, Repudiation, Information Disclosure, Distributed Denial of Service, and Elevation of Privilege
D. Spoofing, Tampering, Repudiation, Information Disclosure, Denial of Service, and Social Engineering

Answer: A

NEW QUESTION 99
- (Exam Topic 2)
Which cloud service category brings with it the most expensive startup costs, but also the lowest costs for ongoing support and maintenance staff?
Response:

A. IaaS
B. SaaS
C. PaaS
D. DaaS

Answer: B

NEW QUESTION 101
- (Exam Topic 2)
Penetration testing is a(n) ______ form of security assessment.
Response:

A. Active
B. Comprehensive
C. Total
D. Inexpensive

Answer: A

NEW QUESTION 102
- (Exam Topic 2)
Which cloud service category is MOST likely to use a client-side key management system? Response:

A. IaaS
B. SaaS
C. PaaS
D. DaaS

Answer: B

NEW QUESTION 106
- (Exam Topic 2)
Although encryption can help an organization to effectively decrease the possibility of data breaches, which other type of threat can it increase the chances of?
Response:

A. Insecure interfaces
B. Data loss
C. System vulnerabilities
D. Account hijacking

Answer: B

NEW QUESTION 107
- (Exam Topic 2)
In a cloud environment, encryption should be used for all the following, except: Response:

A. Long-term storage of data
B. Near-term storage of virtualized images
C. Secure sessions/VPN
D. Profile formatting

Answer: D

NEW QUESTION 112
- (Exam Topic 2)
Which of the following would NOT be included as input into the requirements gathering for an application or system?
Response:
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A. Users
B. Management
C. Regulators
D. Auditors

Answer: D

NEW QUESTION 115
- (Exam Topic 2)
Before deploying a specific brand of virtualization toolset, it is important to configure it according to
______ .
Response:

A. Industry standards
B. Prevailing law of that jurisdiction
C. Vendor guidance
D. Expert opinion

Answer: C

NEW QUESTION 120
- (Exam Topic 2)
Which of the following is the correct name for Tier II of the Uptime Institute Data Center Site Infrastructure Tier Standard Topology?
Response:

A. Concurrently Maintainable Site Infrastructure
B. Fault-Tolerant Site Infrastructure
C. Basic Site Infrastructure
D. Redundant Site Infrastructure Capacity Components

Answer: D

NEW QUESTION 121
- (Exam Topic 2)
What are the four cloud deployment models? Response:

A. Public, Internal, Hybrid, and Community
B. External, Private, Hybrid, and Community
C. Public, Private, Joint, and Community
D. Public, Private, Hybrid, and Community

Answer: D

NEW QUESTION 123
- (Exam Topic 2)
All of the following are activities that should be performed when capturing and maintaining an accurate, secure system baseline, except ______.
Response:

A. Audit the baseline to ensure that all configuration items have been included and applied correctly
B. Impose the baseline throughout the environment
C. Capture an image of the baseline system for future reference/versioning/rollback purposes
D. Document all baseline configuration elements and versioning data

Answer: B

NEW QUESTION 125
- (Exam Topic 2)
What is a cloud storage architecture that manages the data in a hierarchy of files? Response:

A. Object-based storage
B. File-based storage
C. Database
D. CDN

Answer: B

NEW QUESTION 130
- (Exam Topic 2)
According to OWASP recommendations, active software security testing should include all of the following except ______ .
Response:

A. Session initiation testing
B. Input validation testing
C. Testing for error handling
D. Testing for weak cryptography

Answer: A
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NEW QUESTION 135
- (Exam Topic 2)
Each of the following is an element of the Identification phase of the identity and access management (IAM) process except ______.
Response:

A. Provisioning
B. Inversion
C. Management
D. Deprovisioning

Answer: B

NEW QUESTION 136
- (Exam Topic 2)
Which standards body depends heavily on contributions and input from its open membership base?
Response:

A. NIST
B. ISO
C. ICANN
D. CSA

Answer: D

NEW QUESTION 140
- (Exam Topic 2) What are SOCI/SOCII/SOCIII? Response:

A. Risk management frameworks
B. Access controls
C. Audit reports
D. Software development phases

Answer: C

NEW QUESTION 143
- (Exam Topic 2) What is a key component of GLBA? Response:

A. The right to be forgotten
B. EU Data Directives
C. The information security program
D. The right to audit

Answer: C

NEW QUESTION 147
- (Exam Topic 2)
You are the security subject matter expert (SME) for an organization considering a transition from the legacy environment into a hosted cloud provider’s data
center.
One of the challenges you’re facing is whether the provider will have undue control over your data once it is within the provider’s data center; will the provider be
able to hold your organization hostage because they have your data?
This is a(n) ______ issue. Response:

A. Interoperability
B. Portability
C. Availability
D. Security

Answer: B

NEW QUESTION 152
- (Exam Topic 2)
Which of the following is a possible negative aspect of bit-splitting? Response:

A. It may require trust in additional third parties beyond the primary cloud service provider.
B. There may be cause for management concern that the technology will violate internal policy.
C. Users will have far greater difficulty understanding the implementation.
D. Limited vendors make acquisition and support challenging.

Answer: A

NEW QUESTION 153
- (Exam Topic 2)
The Restatement (Second) Conflict of Law refers to which of the following? Response:

A. The basis for deciding which laws are most appropriate in a situation where conflicting laws exist
B. When judges restate the law in an opinion
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C. How jurisdictional disputes are settled
D. Whether local or federal laws apply in a situation

Answer: A

NEW QUESTION 158
- (Exam Topic 2)
What is a cloud storage architecture that manages the data in caches of copied content close to locations of high demand?
Response:

A. Object-based storage
B. File-based storage
C. Database
D. CDN

Answer: D

NEW QUESTION 162
- (Exam Topic 2)
You are the security policy lead for your organization, which is considering migrating from your on-premises, legacy environment into the cloud. You are reviewing
the Cloud Security Alliance Cloud Controls Matrix (CSA CCM) as a tool for your organization.
What is probably the best benefit offered by the CCM? Response:

A. The low cost of the tool
B. Allowing your organization to leverage existing controls across multiple frameworks so as not to duplicate effort
C. Simplicity of control selection from the list of approved choices
D. Ease of implementation by choosing controls from the list of qualified vendors

Answer: B

NEW QUESTION 164
- (Exam Topic 2)
You are the IT director for a small contracting firm. Your company is considering migrating to a cloud production environment.
Which service model would best fit your needs if you wanted an option that reduced the chance of vendor lock-in but also did not require the highest degree of
administration by your own personnel?
Response:

A. IaaS
B. PaaS
C. SaaS
D. TanstaafL

Answer: B

NEW QUESTION 168
- (Exam Topic 3)
Which of the following methods for the safe disposal of electronic records can always be used in a cloud
environment? Response:

A. Physical destruction
B. Encryption
C. Overwriting
D. Degaussing

Answer: B

NEW QUESTION 169
- (Exam Topic 3)
Which of the following aspects of the BC/DR process poses a risk to the organization? Response:

A. Threat intelligence gathering
B. Preplacement of response assets
C. Budgeting for disaster
D. Full testing of the plan

Answer: D

NEW QUESTION 172
- (Exam Topic 3)
Devices in the cloud datacenter should be secure against attack. All the following are means of hardening devices, except:
Response:

A. Using a strong password policy
B. Removing default passwords
C. Strictly limiting physical access
D. Removing all admin accounts
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Answer: D

NEW QUESTION 173
- (Exam Topic 3)
The Brewer-Nash security model is also known as which of the following? Response:

A. MAC
B. The Chinese Wall model
C. Preventive measures
D. RBAC

Answer: B

NEW QUESTION 175
- (Exam Topic 3)
Which of the following threats from the OWASP Top Ten is the most difficult for an organization to protect against?
Response:

A. Advanced persistent threats
B. Account hijacking
C. Malicious insiders
D. Denial of service

Answer: C

NEW QUESTION 177
- (Exam Topic 3)
A cloud provider is looking to provide a higher level of assurance to current and potential cloud customers about the design and effectiveness of their security
controls.
Which of the following audit reports would the cloud provider choose as the most appropriate to accomplish this goal?
Response:

A. SAS-70
B. SOC 1
C. SOC 2
D. SOC 3

Answer: D

NEW QUESTION 182
- (Exam Topic 3)
Patches do all the following except ______.
Response:

A. Address newly discovered vulnerabilities
B. Solve cloud interoperability problems
C. Add new features and capabilities to existing systems
D. Address performance issues

Answer: B

NEW QUESTION 187
- (Exam Topic 3)
Cryptographic keys for encrypted data stored in the cloud should be ______.
Response:

A. At least 128 bits long
B. Not stored with the cloud provider
C. Split into groups
D. Generated with redundancy

Answer: B

NEW QUESTION 191
- (Exam Topic 3)
You are developing a new process for data discovery for your organization and are charged with ensuring that all applicable data is included. Which of the
following is NOT one of the three methods of data discovery?
Response:

A. Metadata
B. Content analysis
C. Labels
D. Classification

Answer: D
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NEW QUESTION 192
- (Exam Topic 3)
The Cloud Security Alliance (CSA) publishes the Notorious Nine, a list of common threats to organizations participating in cloud computing. A cloud customer that
does not perform sufficient due diligence can suffer harm if the cloud provider they’ve selected goes out of business.
What do we call this problem? Response:

A. Vendor lock-in
B. Vendor lock-out
C. Vendor incapacity
D. Unscaled

Answer: B

NEW QUESTION 197
- (Exam Topic 3)
DLP solutions can aid in deterring loss due to which of the following?
Response:

A. Randomization
B. Inadvertent disclosure
C. Natural disaster
D. Device failure

Answer: B

NEW QUESTION 198
- (Exam Topic 3)
FM-200 has all the following properties except ______.
Response:

A. It’s nontoxic at levels used for fire suppression
B. It’s gaseous at room temperature
C. It may deplete the Earth’s ozone layer
D. It does not leave a film or coagulant after use

Answer: C

NEW QUESTION 202
- (Exam Topic 3)
Your company maintains an on-premises data center for daily production activities but wants to use a cloud service to augment this capability during times of
increased demand (cloud bursting).
Which deployment model would probably best suit the company’s needs? Response:

A. Public
B. Private
C. Community
D. Hybrid

Answer: D

NEW QUESTION 207
- (Exam Topic 3)
You are the security manager for a small retail business involved mainly in direct e-commerce transactions with individual customers (members of the public). The
bulk of your market is in Asia, but you do fulfill orders globally.
Your company has its own data center located within its headquarters building in Hong Kong, but it also uses a public cloud environment for contingency backup
and archiving purposes. Your company has decided to expand its business to include selling and monitoring life-support equipment for medical providers.
What characteristic do you need to ensure is offered by your cloud provider? Response:

A. Full automation of security controls within the cloud data center
B. Tier 4 of the Uptime Institute certifications
C. Global remote access
D. Prevention of ransomware infections

Answer: B

NEW QUESTION 209
- (Exam Topic 3)
Dynamic application security testing (DAST) is usually considered a ______ form of testing. Response:
White-box

A. Parched field
B. Black-box
C. Gray-box
D. Parched field

Answer: B
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NEW QUESTION 214
- (Exam Topic 3)
It’s important to maintain a current asset inventory list, including surveying your environment on a regular basis, in order to ______ .
Response:

A. Prevent unknown, unpatched assets from being used as back doors to the environment
B. Ensure that any lost devices are automatically entered into the acquisition system for repurchasing and replacement
C. Maintain user morale by having their devices properly catalogued and annotated
D. Ensure that billing for all devices is handled by the appropriate departments

Answer: A

NEW QUESTION 216
- (Exam Topic 3)
There are two reasons to conduct a test of the organization’s recovery from backup in an environment other
than the primary production environment. Which of the following is one of them? Response:

A. It is good to invest in more than one community.
B. You want to approximate contingency conditions, which includes not operating in the primary location.
C. It is good for your personnel to see other places occasionally.
D. Your regulators won’t follow you offsite, so you’ll be unobserved during your test.

Answer: B

NEW QUESTION 220
- (Exam Topic 3)
Which characteristic of automated patching makes it attractive? Response:

A. Cost
B. Speed
C. Noise reduction
D. Capability to recognize problems quickly

Answer: B

NEW QUESTION 222
- (Exam Topic 3)
Which is the most commonly used standard for information exchange within a federated identity system? Response:

A. OAuth
B. OpenID
C. SAML
D. WS-Federation

Answer: C

NEW QUESTION 224
- (Exam Topic 3)
In addition to BCDR, what other benefit can your data archive/backup provide? Response:

A. Physical security enforcement
B. Access control methodology
C. Security control against data breach
D. Identity management testing

Answer: D

NEW QUESTION 227
- (Exam Topic 3)
You work for a government research facility. Your organization often shares data with other government research organizations.
You would like to create a single sign-on experience across the organizations, where users at each organization can sign in with the user ID/authentication issued
by that organization, then access research data in all the other organizations.
Instead of replicating the data stores of each organization at every other organization (which is one way of accomplishing this goal), you instead want every user to
have access to each organization’s specific storage resources.
In order to pass the user IDs and authenticating credentials of each user among the organizations, what
protocol/language/motif will you most likely utilize? Response:

A. Representational State Transfer (REST)
B. Security Assertion Markup Language (SAML)
C. Simple Object Access Protocol (SOAP)
D. Hypertext Markup Language (HTML)

Answer: B

NEW QUESTION 232
- (Exam Topic 3)
Managed cloud services exist because the service is less expensive for each customer than creating the same services for themselves in a legacy environment.
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Using a managed service allows the customer to realize significant cost savings through the reduction of
______.
Response:

A. Risk
B. Security controls
C. Personnel
D. Data

Answer: C

NEW QUESTION 233
- (Exam Topic 3)
______ is perhaps the main external factor driving IAM efforts. Response:

A. Regulation
B. Business need
C. The evolving threat landscape
D. Monetary value

Answer: A

NEW QUESTION 236
......
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